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Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics,

English version is authentic,

Explain basic Principles of surveying. And construct a scale having
R.F.=1/200 and show on it 32 m. distance.

AdBoL oll oA Rgidl AHAel. wal RF. = 1/200 A8 B olollell

wal dell uR 32 Hle?. R ol
Explain

1. Indirect Ranging with sketch.

2. Magnetic Declination

Al
1. URlel wRuil ¥ AL
2. Jusla €lsuled

A 20 m chain was found to be 20 cm too long at the beginning and 20cm too
short after measuring distance of 930 m. Chain was found 50cm too short
after measuring another distance of 870 m. Calculate correct distance
measured.

20 {l uiso stHell 2l 20 A eiefl el 2 930 {22 2idR
Hrual uedl 20em @51 olell Holl ecll. daw ofloy 870 HleR vidR Hual

ugfl Aset 50cm &Sl el Holl cll. dl WRUR 2idRell 2gLdsl 53l
Draw neat sketch of prismatic compass and State the functions of major parts.

gl €13l MoyAlRs sudell v ewdlla] st el
OR
i. Convert 340° 15° in to R.B. and N 25° 45°W in to WCB
ii. Bearing of line OP and OR is 82° 20° and 50° 30’ respectively,
calculate angle POR

iii. Calculate interior angle ABC from the following data.

Line FB

AB 126° 15°

BC 86° 15°

i. 340°15' ol Asyes Aol UL wal N 25° 45°W ol WCB ML ¥4,
ii. 2l OP Al OR oll AREoL AsjsH 82° 20" sl 50°30° B,
well POR agll.
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iii. o{lAoll Ml Yowar 2ictslel ABC 2wl

Line FB
AB 126° 15°
BC 86° 15°

The following consecutive readings were taken on a continuously sloping
ground from point A to B at a common interval of 30 m with 4 m leveling
staff. (A)0.585, 0.95, 1.95, 2.845, 3.645, 3.940, 0.965, 1.035, 1.690, 2.535,
3.845,0.955, 1.580 and (B)3.015.

The R.L. of point A was 100.0 m. Rule out page of level book and calculate
R.L. of all points by H I method. Apply usual checks and determine the
gradient of a line AB.

Udd alqaoll wilet uR 301l AR A ol B (g Yyl {Aau

iAol Aad wal 4 {22 w@ls WA Al el &dl.

(A)0.585, 0.95, 1.95, 2.845, 3.645, 3.940, 0.965, 1.035, 1.690, 2.535, 3.845,
0.955, 1.580 and (B)3.015.

A (g ol 2RAd. 100.0{l22 B Add ¢s of Ulg] sleticll ot

Weo2 of wRA HI ol el sl As 52 sl 2wl AB ol 3l
alledl.

i) Define contour
ii} Draw contour lines representing Hill and steep sloping ground
iii} Enlist uses of contour map.

i) Al L ofl cauall cudl.
) Bt wal Alew alo aloll wlet 12 urllzy 2ul €1Rl

i) AUHLR2L Uil o2l olt Guallol cull.

OR
Following readings are taken with a level & 4.0m leveling staff on Sloping
ground. 1.135, 0.345, 1.265, 2.460, 3.675, 0.220, 1.105, 1.890, 2.885, 0.105,
2.435 & 3.075. The first reading was taken on BM having RL 50.0. Find the
RL of points by rise & fall method. Give arithmetic check.

alaaloll wHlet w2 olAcll cidet Aaet wa 4 Hle2 w2l A8 daun
Ll &cll. 1.135, 0.345, 1.265, 2.460, 3.675, 0.220, 1.105, 1.890, 2.885,
0.105, 2.435 & 3.075. yaH 3slol BM GuR Al wUAA %oj RL 50.0

Hl. 8. sl o2 of wR.AA. GellR-uslal ofl el a2l As 53
Explain the Temporary adjustment of dumpy level.
sl dad ol ol umlleset dntal,

Following bearings were observed while running a closed traverse. Correct
the bearing for local attraction and calculate included angles.

Line Fore Bearing Back Bearing
PQ 68° 248°
QR 130° 3120
RS 2529 70°
SP 344° 164°

ofldell AFol oitl HIAURWEL M2 dctHl AAd B. wlls wusyeel
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eallotl @6 AUl ARat el yeudl «fl awLddl sl

Line Fore Bearing Back Bearing
PQ 68° 248°
QR 130° 312°
RS 2529 70°

SP 344° 164°

Classify errors in leveling and explain in brief.
AHAdlsQHL Ul ¢l of collsL 53 Al Hl wxenal.

OR
Define the terms:
{iy Change point (ii) Bench mark (i) Axis of telescope
(iv) Reduced level  v) Back sight  vi) Fore sight  vii) contour Interval
callul ALl

iRl oea Glg () delRlos (iii) 2As1U] et (iv) wWlaL G <)

Uscll WElSol vi) AU AUACSoL vii) UHLIRAU UL A dR.
Explain the methods of Interpolation and characteristics of contours.
AU UL yauelell ugldal el il el datell Al

Explain orientation in Plane Table Survey? Explain orientation procedure of
plane table by back sighting.

Wlot el Al [Esrauust auamal? ds wsdlol dd ol B sreuusts(l

yBal dxestal.

i) State uses of theodolite.
ii} List methods of Plane Table Survey and explain any one in detail.

i) @lallsleusse ot Guellol el
i) Wol 2ol Ufoll Acdloll awél woticl sluel As (Aot

Axonal,

OR
State advantages & disadvantages of Plane Table Survey.

Wlot 2016l A oll Lot ol IR SLLEL oLl

State the functions of following.
1. Clip screw 2. Telescope 3. Shifting head 4. Lower plate screw.
5. Vertical circle 6. Ufork 7. Alidade

ol Aotl stall cull.
LEAU g  22@slu 3 unidR ol 4 Al e .
5. s adm 6.y 515 il 7. 9ellds.
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